
Math 1520 Group work - Polar geometry Week 7

1. Plot these points, which are given in polar coordinates (r, θ).

A. (2, π2 ) B. (3, π4 ) C. (7, π) D. (−4, 0) E. (−5,−π
2 )

2. Sketch the cardioid given in polar form by r = 5− 2 cos(θ) for θ ∈ [0, 2π].

Free Polar Graph Paper from http://incompetech.com/graphpaper/polar/
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3. Find the arclength and area of the cardioid. You’ll want to use software to do the
integrals.

Solution: The arclength is∫ 2π

0

√
(2 sin(θ))2 + (5− 2 cos(θ))2dθ ≈ 32.69

The area is ∫ 2π

0

1

2
(5− 2 cos(θ))2dθ ≈ 84.82


